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Wiper Motor Parking Mechanism Inoperative

If the windshield wiper motor works normally but doesn’t “park” when the wipers are turned off,
the problem may be in the parking mechanism. 

Access the motor behind the dash and inspect, the green & yellow wires shown in the piture
below. If the clamp holding the harness in place is loose, the green & yellow wires may pull 
loose from the terminals and the parking mechanism will not work.

If wires have pulled loose inspect the terminals, re-secure the wires and verify the harness has 
enough slack so the wires do not pull loose again, tighten clamp.


